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QUESTION 3

Itis belizved that most actively managed funds fail to outperform the overall market. To
empirically test this statement, an analyst has collected the following secondary data to
examine whether or not the mean return of an index which represents all the actively
managed funds in the market is statistically sigrificantly different from the average retum of
the overall market,

Average Annualised
Indexes #Observations | Annualised Standard
Return Deviation
Active Fund 101 12.10% 1537%
Index
Benchmark ) ”
Warket Index Lot e0% .

& Conduct an appropriate test to examine whether the two samples have the same
population variances at the 29 level of significance
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b. Assume that the two samples have the same variances; conduct an appropriate test to
examine whether the two indexes have the same mean at the level of 0,01
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Conduct appropriate test to examine whether the annualised mean retum for the active
fund index s different from 9% at the 0.01 signific
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d. Construct a 95% confide
index.

& interval for the mean monthly retums of benchmark market
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e. Compare and contrast the use of test statistic
approach to conduct a hypathesis te

value approach and the p-value





